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Time : 3 Hours] [Max. Marks : 60
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Attempt any two of the following in about 100 words each : [12]

(@) Why does McCormack say that one should not be too curious
about the private life of people ?

(b)  Bring out the significance of the title “The Second Crucifixion.’

(c) What was the reaction of Hughie Erskine when he learnt that
the model was actually Baron Hausberg ?

(d) Why does the poet say that the mirror has no preconceptions ?

Q.2) Attempt any three of the following in about 50 words each : [12]
(@) How did Nicola and Jacopo conduct themselves during the war ?

(b) What are the hopes and aspirations of the mother in ‘The
Affliction of Margaret ?

(c) Describe the destruction caused by the tsunami in Nicobar and
Andamans.

(d) How does Shakespeare describe the last scene of life ?
(e) Why did the conjurer take revenge on the Quick Man ? How ?
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Q.3) Attempt any two of the following : [12]

Q.4)

[4369]-101

(@ Write an essay on ‘Rising Prices’.
(b) You and your friend are planning to go to a hill station in Diwali
Vacation. Write a dialogue on this topic.
(c) Write a paragraph on ‘Save a Girl Child’.
(d)  Your sister could not appear for the H.S.C. Examination as she
was ill. Write a letter of consolation to her.
Do as directed : (Any Six) [12]
(@ Give short forms of the following words :
(i)  department
(i)  maximum
(b) Use the following idioms in your own sentences as to bring out
their meanings :
(i) last but not least
(i) at heart
(c) Make words by using the following prefixes :
(i) re
(i) un
(d) Give synonyms for the following words :
(i) hold
(i) job
(e) Give verb forms of the following words :
(i)  requirement
(if) appearance
()  Make adjectives from the following words :
(i)  collection
(i)  information
(g) Give full forms of the following :

(i) C.B..

(i) PT.O.
2 Contd.



(h)

(i)

Fill in the blanks using suitable words given in the bracket and
rewrite :

(1) The hike in petrol price economy.
(effects / affects)
(i)  We wish you to our invitation.

(except / accept)

Construct a meaningful sentence using the following words in
any order :

democracy, India, largest

Q.5) Do as directed : (Any Six)

(a)

(b)

(©)

(d)

(€)

(f)

(9)

(h)

(i)

Although he was invited for the party
[Complete the sentence appropriately.]
| will drive your car.

[Change the voice.]

You will open the door.

[Change into an imperative sentence.]

The next morning | found the boy was lying by the
road.

[Complete the sentence using a suitable relative clause.]

The Policeman said to the boy, “Did you see a stranger running
along ?”

[Change the sentence into indirect speech.]
We watched a movie yesterday.
[Add a question tag.]

Radha did an M.B.A. a business school
India.

[Fill in the blanks with appropriate prepositions and rewrite.]
What on earth do you mean asked hughie.

[Punctuate the sentence and rewrite.]

Where have you kept the book ? | have bought.

[Combine the sentences and rewrite.]
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Total No. of Questions : 4] [Total No. of Printed Pages : 8

[4369]-102

F. Y. B. Com. Examination - 2013
FINANCIAL ACCOUNTING
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Use of calculator is allowed.

Q.1) Objective type questions :

(@) State whether the following statements are true or false :
(Any Five) [05]

(i)  On Dissolution of Partnership Firm the Assets are transferred
on Debit Side of Realisation A/c.

(i)  Accounting Standard -1 is disclosure of Accounting
Policies.

(i) All Cash Transactions are recorded on Receipt and
Payment Alc.

(iv) When Goodwill is raised on admission of a partner the
Capital A/c. of old partners is credited in their old Profit
and Loss Sharing Ratio.

(v)  The relationship of Consignor and Consignee is that of
Debtor and Creditor.

(vi) Discount on Bills Receivable discounted by Consignor is
credited to Consignment A/c.

(vii) All Nationalised Banks are the example of Non-trading
Organisation.

[4369]-102 1 P.T.O.



(b)

(©)

[4369]-102

Fill in the blanks using appropriate words from the brackets :

(Any Five)

(i) The amount paid on the date of purchases of Assets on
Hire-purchase Agreement is called as
[Down Payment, Cash Payment, Bank Payment]

(i)  Appreciation in value of Asset, on Revaluation of Asset
IS to Revaluation Alc.

[Credited, Debited, Ignored]

(i)  Surplus Capital Method is also called as
[Proportionate Capital Method, Maximum Loss Method,
None of these]

(iv) Excess of Minimum Rent over Royalty is called as
[Short Working, Surplus, Profit]

(v) The Balance on Capital Account of deceased partner is
transferred to
[Executor’s Loan Alc., Partner’s Loan A/c., Current A/c.]

(vi) Delcradre Commission is paid to Consignee on
[Cash Sales, Credit Sales, Total Sales]

(vii) Excess of Income over Expenditure of Non-trading

Organisation is called as

[Surplus, Deficit, Loss]

Write short notes : (Any Two)

()

(i)
(iii)
(iv)

Difference between Hire-purchase and Instalment System
Tally Package
Accounting Standard - 2, Valuation of Inventories

Capital Receipts and Revenue Receipts, with examples
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Q.2) A, B and C shared profits and losses in the ratio of 5:3:2 on
31-2-2011. When they decided to dissolve the firm, their Balance Sheet

was as follows :

Balance Sheet
Liabilities Rs. Assets Rs.
Creditors 30,000 | Plant and Machinery 50,000
Bank Loan 20,000 | Stock 24,000
General Reserve 10,000 | Investment 60,000
Municipal Taxes 5,000 | Debtors 20,000
Capital Alc. :
A 50,000
B 21,000
C 18,000
1,54,000 1,54,000

The assets realised in instalment as follows :
1st Instalment Rs. 44,000
2nd Instalment Rs. 50,000
3rd Instalment Rs. 60,000

Provide Rs. 9,000 for realisation expenses out of the amount collected
from instalment one and it was recorded that actual cost of realisation

was Rs. 4,000.

Prepare :

(@ Statement showing Surplus Capital

(b) Statement showing Distribution of Cash under Surplus Capital

Method

[4369]-102
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Q.2) Following were the Balance Sheet of Megha and Varsha and Ram and
Sham as on 31-03-2011 :

Balance Sheet (31-03-2011)

Liabilities Meghaand |Ramand | Assets Megha and | Ram and
Varsha Sham Varsha Sham
Creditors 25,000 30,000 | Building - 42000
Loan Alc. 10,000 - | Plant 40,000 25,000
Bills Payable - 9,000 | Furniture 10,000 8,000
Outstanding Tools 3,000 5,000
Salary 1,000 900 | Stock 20,000 15,000
Capital Alc.:
Megha 36,000 — | Debtors 12,000 11,000
Varsha 18,000 - | Cash 5,000 3,900
Ram - 40,000
Sham - 30,000
90,000 | 1,09,900 9,000 1,09,000

Megha and Varsha shared profits and losses in the ratio of 2:1 and
Ram and Sham were sharing profits and losses in the ratio of 3:2.
The two firms decided to amalgamate the firms of following terms :

(1) Outstanding Salaries were to be paid by the respective firms.

(2) Furniture of both firms were not taken over by the new firm,
Megha and Varsha sold furniture for Rs. 12,000 and Ram and
Sham sold furniture for Rs. 7,000.

(3) Tools of both firms not taken over by new firm and distributed
to partners in their profit and loss sharing ratio.

(4) Building was valued at Rs. 45,000.

(5) Stock of Megha and Varsha was undervalued by Rs. 2,000
and Stock of Ram and Sham was overvalued by Rs. 3,000.
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(6) Debtors of Megha and Varsha include Rs. 2,000 bad debts.
Debtors were taken over by new firm subject to 5% reserve
for doubtful debts.

(7) Loan was taken over by Megha and bills payable were
taken over by Ram.

Close the Books of Megha and Varsha and Ram and Sham, also
prepare amalgamated Balance Sheet. [14]

Q.3) (A) Sagar, Pravin and Prashant shared profits and losses in the ratio
of 4:3:3. Their Balance Sheet as on 31-3-2012 was as follows :

Balance Sheet

Liabilities Amt. Assets Amt.
Creditors 25,000 | Cash in Hand 15,000
Bills Payable 15,000 | Machinary 35,000
Mrs. Sagar Loan 10,000 | Investments 25,000
General Reserve 10,000 | Stock 25,000
Capital Alc. : Debtors 20,000

Sagar 30,000 | Bills Receivables 10,000
Pravin 25,000
Prashant 15,000

1,30,000 1,30,000

The firm was dissolved on the date of Balance Sheet :
(1) The assets realised as follows :

Machinary Rs. 34,000, Investment Rs. 24,000, Stock
Rs. 27,000, Debtors Rs. 18,000, Bills Receivables were
taken over by Sagar and agreed value of Rs. 9,000.

(2) Mrs. Sagar loan was taken over by Sagar.

(3) Creditors and Bills Payable were paid at 5% discount.

(4) Cost of realisation amounted to Rs. 2,000.

Close the Books of Partnership Firm, by opening necessary
Alcs. [08]
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(B) Coal Company of Darbhanga leased coal mine to Assam Colliary
Company Limited at a royalty of Rs. 2 per tonne subject to a
minimum rent of Rs. 20,000 per annum with a provision to reduce
the minimum rent proportionately for the period of stoppage of
work during strike. The stortworkings if any can be recovered
in first three years only. The output for four years from 2007
was follows :

2007 - 6,000 tonnes
2008 — 8,000 tonnes
2009 — 14,000 tonnes
2010 - 6,000 tonnes

During the year 2010 there was a strike for 6 months. Pass
necessary journal entries in the Books of Assam Colliary
Company Ltd. (Tenant) for 4 vyears. [14]

Q.4) Ashok Sports Club, Ashoknagar submit you like following Receipts
and Payment Account for year ended 31-3-2011 :

Receipts and Payments Account

Receipts Amount | Payments Amount
(Rs.) (Rs.)
To Opening Balance : By Upkeep of Ground 1,500
Cash 2,000 | By Wages 4,000
Bank 5,000 | By Salaries :
To Subscription 2009-10 - 1,000
Received 2010-11 - 8,000 9,000
2009-10 - 500 By Investments 10,000
2010-11 -15,000 By Sport Materials 6,000
2011-12 - 1,000 16,500 | By Sport Match
To Receipts from Expenses 4,000
Sport Matches 6,000

[4369]-102 6 Contd.



Receipts Amount | Payments Amount
(Rs.) (Rs.)
To Interest on By Telephone Bill 2,000
Investment 1,000
To Locker Rent 2,000 | By Subscription
To Entrance Fees 1,500 to Sport Magazine 2,000
To Donation for By General Expenses 1,200
Construction of By Closing Balance :
Gymkhana 8,000 Cash 2,000
To Sale of Sport Bank 5,300
Material
(Book Value
6,000) 5,000
47,000 47,000

Additional Information :

(1) On 1-4-2010, the club had Furniture Rs. 15,000, Sports Materials
Rs. 20,000, Outstanding Subscription Rs. 1,500, Outstanding
Salary Rs. 1,500, Investments Rs. 5,000.

(2) Half of the Entrance Fees is to be capitalised.

(3) For the year ended on 31-3-2011, the subscription of Rs. 3,000
IS outstanding.

(4) Salary Outstanding as on 31-3-2011 amounted to Rs. 1,000.

(5)  On Investment Rs. 500 interest is still to be received at the end
of the year 2010-11.

You are required to prepare :

(@ Income and Expenditure Alc.

(b) Balance Sheet as on 31-3-2011 [20]
OR
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Q.4) (A) Ratnakar of Ratnagiri consigned 100 tricycles to Prabhakar of
Panji at a cost of Rs. 1,000 per tricycle. Ratnakar paid Rs.10,000
towards transportation and other charges. He also received a bill
duely accepted by Prabhakar for Rs. 30,000. Ratnakar got bill
discounted with bank for Rs. 29,500.

Prabhakar paid on receipt of consignment Rs. 4,000 towards
freight and other charges. Prabhakar sold to tricycles for
Rs. 1,300 each for cash and 30 tricycles Rs. 1,500 each on credit.
Prabhakar is to get commission of 5% on total sales and 2%
Del Cradre Commission. Prabhakar remitted balance due to him
by bank draft.

You are required to prepare :
(@ Consignment Alc.
(b) Prabhakar A/c. in the books of Ratnakar [10]

(B) Arvind Ltd. purchased a machinary on Hire-purchase System
from Natraj Ltd. at a cost of Rs. 60,000 on 1-1-2007. Arvind
Ltd. paid Rs. 15,000 on the date of purchases and agreed to
pay balance in 3 equal annual instalments of Rs. 15,000 each.
The accounting year is closed on 31 December every year. The
vendor charge interest @ 10% p.a. Arvind Ltd. decided to
depriciate the machinary @ 15 % p.a. on Original Cost Method.

You are required to prepare :

@ Natraj Ltd A/c. (Hire Vendor)

(b)  Machinery Alc.

in the books of Arvind Ltd. [10]
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[4369]-103

F. Y. B. Com. Examination - 2013
BUSINESS ECONOMICS (MICRO)
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Draw neat diagrams wherever necessary.

Q.1) Define Business Economics. Explain in detail the Scope of Business

Economics. [16]
Q.2) What is Demand Estimation ? Explain Methods of Demand
Estimation. [16]
OR

Q.2) Explain Internal and External Economics of Large Scale Production. [16]
Q.3) Answer in brief : [16]
(@ State the Innovation Theory of Profit.
(b) State the Features of Oligopoly.
OR
Q.3) Answer in brief : [16]
(@ Explain Concept of Break-even Point.

(b) Explain Ricardian Theory of Rent.
Q.4) Discuss the Liquidity Preference Theory of Interest. [16]
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Q.5) Write short notes : (Any Two) [16]
(@ Features of Monopolistic Competition
(b) Backward Sloping Supply Curve of Labour
(c) Price Discrimination

(d) Quasi Rent
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[4369]-105

F. Y.B. Com. Examination - 2013
COMPUTER CONCEPT AND PROGRAMMING
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Both the sections should be written in the some answer-book.

SECTION - |
Q.1) Attempt any four of the following : [4x2=08]
(@ What is www (World Wide Web) ?
(b) What is Memory ? State its types.
(c) Define Disk Cleaning.
(d) Define ‘Moving’ and ‘Copying’.
() What is Page Setup ? Explain setting of a Page.
()  Explain any one example of E-commerce.
Q.2) Attempt any four of the following : [4x4=16]
(@) Explain the different Generations of Computers.
(b) Explain the Control Panel used in Windows Operating System.
(c) What is Internet ? Explain Web Browsers.
(d) What is DOS ? Write limitation of DOS.
(e) Explain ‘Hard Disk is a Secondary Storage Device’.
()  What is Input Device ? Discuss any two Input Devices.
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Q.3) Attempt any four of the following : [4x4=16]
(@ What is Printer ? Explain different types of Printers.

(b) What is the use Power Point ? What are the features of Power
Point ?

(c) Explain the CD Rom as External Storage Device.
(d) Draw a structure of Computer ? Explain all parts in brief.
(e) Explain Electronic Data Interchange (EDI).

()  What is the Internet and Intranet ? State their advantages.

SECTION - Il

Q.4) Attempt any four of the following : [4x2=08]
(@) Define Assets and Liabilities.
(b) Define Personal Account. State its rules.
(c) Define Impersonal Account. State its rules.
(d) Define Capital Account.
(e) Explain the format of Bank Reconciliation Statement.

(f)  Explain the important Key in Tally.

Q.5) Attempt any four of the following : [4x4=16]
(@) Explain the different heads of Organising Accounts.
(b) Explain Concept of Sub-groups.
(c) Explain Invoice Entry.
(d) How to create a Purchase Order ?
() How to Alter and Modify a Company ?
()  Explain Loading, Selecting and Shutting a Company.
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Q.6) Attempt any four of the following : [4x4=16]
(@) Explain Profit and Loss Accounts.
(b) Explain Balance Sheet with example.
(c) How to create Debit and Credit Note for VAT.
(d) Explain Bill-wise Details.
(e) Explain Orders and Buyer Details.
()  Explain the different types of Vouchers and its Function Key.
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[4369]-106

F. Y. B. Com. Examination - 2013
COMMERCIAL GEOGRAPHY
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Neat diagrams must be drawn wherever necessary.
(3) Use of map stencils is allowed.

Q.1) Answer the following upto 20 words each : (Any Ten) [20]
(1) What is meant by Environment ?
(2) What is Business Approach ?
(3) Name any two Primary Economic Activities.
(4) What is Solar Energy ?
(5) Define Subsistence Farming.
(6) State any two advantages of Under-population.
(7) Define Renewable Resources.
(8) State any two advantages of Air Transportation.
(9) State any two disadvantages of Waterway Transportation.
(10) What is “Tourist” ?
(11) Write the types of Bar Graphs.
(12) State any two types of Engineering Industries.
(13) What is meant by Choropleth Method ?
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Q.2) Answer the following upto 50 words each : (Any Two) [10]
(1) Regional Approach
(2) Determinism
(3) The North-Atlantic Ocean Route
(4) Tourist Industry of India

Q.3) Answer the following upto 150 words each : (Any Two) [20]
(1) Write characteristics of Indian Population.
(2) Give the Geographical Account of Monsoon Forest.
(3) Give an account of Cotton Textile Industry in India.
(4) Explain the importance of Cartographic Diagrams in Commercial
Geography.
Q.4) Answer the following upto 300 words each : (Any Two) [30]
(1) Explain the factors of Natural Environment.
(2) Give an account of Iron and Steel Industry of India.
(3) Compare various Modes of Transport

(4) Explain main types of Farming.
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[4369]-107

F. Y. B. Com. Examination - 2013
CO-OPERATION
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is Co-operation ? Explain nature and scope of Co-operation. [16]

Q.2) What is Co-operative Leadership ? Explain Problem of Leadership. [16]
OR

Q.2) State various types of Agricultural and Non-agricultural Co-operatives. [16]

Q.3) (A) State functions of Promoter. [08]
(B) Explain Duties of District Registrar of Co-operatives. [08]
OR
Q.3) (A) Explain provisions regarding to the Registration of Co-operative
Societies as per Maharashtra Co-operative Act, 1960 [08]
(B) Explain Promotion Procedure of Co-operative Societies. [08]

Q.4) Explain various Laws relating to Primary Agricultural Credit
Co-operative Societies. [16]
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Q.5) Write short notes : (Any Two) [16]
(@ Responsibilities of Promoter of Co-operative Society
(b) Importance of Bye-laws
(c) Weaker Section Co-operatives

(d) Role of State Government in Co-operative Movement
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[4369]-108

F. Y. B. Com. Examination - 2013
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
PAPER - |
DEFENCE ORGANISATION AND MANAGEMENT IN INDIA
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) Define Defence Budgeting.

(2) State any two Powers of the Parliament in relation to the Armed
Forces.

(3) Write any two functions of the Territorial Army.
(4) What do you mean by Counter Intelligence ?
(5) Write the meaning of Civil Defence.

(6) Define Sea-power.

(7) State meaning of Defence Mechanism of the Indian Armed
Forces.

(8) What do you mean by Perspective Defence Planning ?
(9) State meaning of Threat Perception.

(10) State meaning of Second Line Defence.

(11) Write any two functions of Home Guards.

(12) State any two functions of Coast Guards.

(13) Write meaning of War Potential.
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Q.2) Answer in 50 words each : (Any Two) [10]

(1) Explain the Powers of the President in relation to Armed Forces.
(2) Explain the Organisational Structure of Indian Army.
(3) Explain Characteristics of Artillery.
(4) Discuss the role of Engineers in National Defence.
Q.3) Answer in 150 words each : (Any Two) [20]
(1) Explain the Development of Indian Air-force after Independence.
(2) Discuss the functions of Intelligence in National Defence.
(3) Explain the role and limitations of Territorial Army.
(4) Explain various types of Battle Ships in Indian Navy.
Q.4) Answer in 300 words each : (Any Two) [30]
(1) Write a note on the Development of Indian Military Power after
Independence.
(2) Discuss the role and limitations of Indian Navy in maintaining
India’s National Security.
(3) Explain the relations between Parliament and India’s Armed
Forces.
(4) Write a note on ‘Present Status of Indian Army’.
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[4369]-109
F. Y. B. Com. Examination - 2013
BANKING AND FINANCE
(Fundamentals of Banking)
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define Bank. Explain Evolution of Banking.

Q.2) State various types of Bank Account-holders.
OR

Q.2) Explain Primary and Secondary Functions of Banks.

Q.3) (A) Explain Types of Cheques.
(B) Explain Balance Sheet of Bank.
OR
Q.3) (A) Explain feature of Negotiable Instruments.

(B) Explain importance of Technology in Banking.

Q.4) What is Endorsement ? Explain Kinds of Endorsements.
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Q.5) Write short notes : (Any Two) [16]
(@ Bank Liquidity and Profitability
(b) Limitation of Credit Creation
(c) Types of Bill of Exchange
(d) Core Banking
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[4369]-110
F. Y. B. Com. Examination - 2013
MANAGERIAL ECONOMICS
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Draw neat diagrams wherever necessary.

Q.1) What is Cost-Benefit Analysis ? Explain steps in Cost-Benefit Analysis. [16]
Q.2) What is Capital Budgeting ? Explain usefulness of Capital Budgeting. [16]
OR

Q.2) What are Economic Reforms ? Explain with reference to Indian
Economy. [16]
Q.3) (A) What is Income Elasticity of Demand ? [08]
(B) Explain why the Short Run Average Cost Curve of Firm is
U-shaped ? [08]
OR
Q.3) (A) Explain Concept of ‘Peak Load Pricing Practice’. [08]
(B) Explain Barometric Indicators of Business Forecasting. [08]
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Q.4) What is Price Elasticity of Demand ? And its importance in Business
Decisions. [16]

Q.5) Write short notes : (Any Two) [16]
(@ Scope of Managerial Economics
(b) Cost-Plus Pricing
(c) Cross Elasticity of Demand
(d) Variable Cost
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[4369]-111
F. Y. B. Com. Examination - 2013

OFFICE MANAGEMENT AND SECRETARIAL PROCEDURES
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) AIll questions carry equal marks.

Q.1) Define Communication. Explain barriers to Effective Communication. [16]

Q.2) Define Office Environment. Explain principles and factors responsible

for the selection of Office Location. [16]
OR
Q.2) Define Office System. Explain the characteristics and importance of
an Office System. [16]
Q.3) (A) State the duties and responsibilities of Office Manager. [08]
(B) State Procedure of Handling Outward Mail. [08]
OR
Q.3) (A) Draft a notice and agenda of Annual General Meeting. [08]

(B) State various Methods Recruitment of Office Employees. [08]

Q.4) Define Office Automation. Explain feasibility and advantages of Office
Automation. [16]
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Q.5) Write short notes : (Any Two)

@)
(b)
(©)
(d)

Contents of an Office Manual
Principles of Effective Correspondence
Importance of Public Relations

Advantages and Types of Office Forms
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[4369]-112
F. Y. B. Com. Examination - 2013
ESSENTIALS OF E-COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define Internet. Explain its role in E-commerce. Explain common
way to connect Internet. [16]

Q.2) Explain in requirement of E-payment System. Define Pre and Post

Payment Services. [16]
OR
Q.2) What do you mean by E-ticketing ? Explain in brief any two Procedure
of On-line Booking. [16]
Q.3) (A) Explain scope and limitation of E-commerce. [08]
(B) Explain the following terms : [08]

(a) Direct Marketing
(b) One-to-one Marketing
OR
Q.3) (A) Explain E-commerce Security. [08]

(B) Explain the Legal Issues related to E-commerce in India. [08]
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Q.4) Explain the concept and meaning of E-banking. What are the Security

Problems of Internet Banking ? [16]
Q.5) Write short notes : (Any Two) [16]
(@) Telnet

(b) E-stock Trading
(c) Smart Card

(d) Business 2 Business
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[4369]-113

F. Y. B. Com. Examination - 2013
CONSUMER PROTECTION AND BUSINESS ETHICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is Consumer ? Explain the importance and functions of Consumer

Movement. [16]
Q.2) Explain the Redressal Machinery under the Consumer Protection Act,
1986. [16]
OR
Q.2) Explain the Administrative Machinery in Preventing Food Adulteration
under Prevention of Food Adulteration Act, 1954, [16]
Q.3) (A) State the importance of Provisions of Standards of Weights and
Measures Act, 1976. [08]
(B) State the relationship between Business and Ethics. [08]
OR
Q.3) (A) Explain various Rights of Consumers regarding Weights and
Measures. [08]
(B) Explain Concept of ‘Consumer as a Capital’. [08]
Q.4) Describe the powers and functions of Information Commission. [16]
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Q.5) Write short notes : (Any Two) [16]
(@ Challenges before Voluntary Consumer Organisations
(b) Problems of Urban Consumers
(c) Scope of Right to Information Act

(d) Consumerism in India
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[4369]-114
F. Y. B. Com. Examination - 2013
BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is Parallel Economy ? Explain in detail the causes and
remedies of Parallel Economy. [16]

Q.2) Define the term Entrepreneur. Explain in detail the qualities of a

Successful Entrepreneur. [16]
OR
Q.2) What is Business Environment ? Describe in detail the types of
Business Environment. [16]
Q.3) (A) Describe the habits of Entrepreneurs. [08]
(B) Write a note on MITCON. [08]
OR
Q.3) (A) Write a detail note on District Industries Centre (DIC). [08]
(B) Write a detail note on Intrapreneur. [08]
Q.4) Describe Entrepreneurial Career of Narayan R. Murthy. [16]
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Q.5) Write short notes : (Any Two)

(@)
(b)
(©)
(d)

Entrepreneurship Development Institute of India (EDI)
Distinguish between Entrepreneur and Non-entrepreneur
Importance of Entrepreneurship

Entrepreneur as a Catalyst
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[4369]-115
F. Y. B. Com. Examination - 2013
INSURANCE AND TRANSPORT
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Describe the scope and importance of Transport in Economic

Development. [16]
Q.2) Explain in detail the Working of Life Insurance Corporation. [16]
OR
Q.2) “Tourism plays an important role in Indian Economic Development.”
Discuss. [16]
Q.3) (A) Socio-economic importance of Insurance [08]
(B) State Career Options in Insurance Business. [08]
OR
Q.3) (A) State various Hazards in Logistics. [08]
(B) Describe functions of General Insurance. [08]

Q.4) Explain advantages and limitations of various Modes of
Transport. [16]
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Q.5) Write short notes : (Any Two) [16]
(a) Opportunities in Tourism
(b)  Principles of Insurance
(c) Difference between Life Insurance and General Insurance

(d) Role of Tourist Guide
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[4369]-116
F. Y. B. Com. Examination - 2013
MARKETING AND SALESMANSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is Marketing Mix ? Explain different elements of Marketing Mix. [16]

Q.2) Explain the major factors which you will take in to account while

Pricing a Product. [16]
OR
Q.2) Explain various functions of Marketing. [16]
Q.3) (A) What is Marketing Research ? Explain its objectives. [08]
(B) State in brief various Advertising Media. [08]
OR
Q.3) (A) State merits and demerits of Personal Selling. [08]
(B) Describe various benefits of Market Segmentation to Consumers
and Marketing Organisation. [08]
Q.4) Explain the steps in Process of Selling. [16]
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Q.5) Write notes : (Any Two) [16]
(@ Pricing Methods
(b) E-marketing
(c) Recent Trends in Modern Advertising

(d) Types of Packaging
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[4369]-117
F. Y. B. Com. Examination - 2013
FOUNDATION COURSE IN COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Discuss the characteristics and advantages of Limited Liability

Partnership. [16]
Q.2) What are the advantages and problems of an N.G.O. ? [16]
OR
Q.2) Explain Concept of Franchising. What are its advantages and
limitations ? [16]
Q.3) (A) Discuss the advantages of ATM. [08]
(B) Write a note on ‘Education of Investors by SEBI’. [08]
OR

Q.3) (A) What is the impact of Opening of Insurance Sector to Private
Players ? [08]

(B) Discuss the procedure followed in Commodity Exchange. [08]

Q.4) Narrate features and functions of Indian Merchants Chamber, Mumbai. [16]
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Q.5) Write short notes : (Any Two) [16]
(@) Labour Policy of Government of India
(b) On-line Trading
(c) Logistics
(d) Future of Commodity Exchange
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[4369]-117
AS T
% : 3 d9] [CFT T[T : 80
z;raw by

(1) @& g97 FISAv 3Ma9qH 37,
(2) IEtESlaT 3 goard Ul O FOffIar.

7.1) Tuifed S 9nisrEr dftres nfr weE gmaT 9=l &AL [16]

7.2) fonR sl dwiE wEe T WHET HivTET ITRd 9 [16]
TeRar

7.2) OIS Fhedql T B, A BEE 9 FIET ST d @Em. [16]

¥.3) (30 TIALTAA ®EI F. [08]
() ‘HeAlpgA TaauHaR™  freer areR S foE [08]
EEL
7.3) 3N AT &7 TN A SIS SA HHA SUATes HIOT
ERICEEEE U [08]

(@) T faFemeer A TUE! SO FEUEal araY 949t H. [08]

9.4) O Ao PR, Heug FiAr dRred st w1 Tase & [16]
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¥.5) feur ferar © (U@ q9) [16]
(1) VR BRI HATHE €T

() T W wiaa"

[4369]-117/4



Seat
No.

Total No. of Questions : 4] [Total No. of Printed Pages : 4

[4369]-118
F. Y. B. Com. Examination - 2013
PERSIAN GENERAL - |
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Define and illustrate any ten of the following : 20]
e ()
JBf =2 (2)
S o)
drF @
FoE )

P ()
g
)

S 9)

—IzsJlr (10)

&Z1sly (A1)

L E A 12

S 13)
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Q.2) Define any two of the following : [10]
£
LAVANNC)
JF 0

6~ @
Q.3) (A) Reproduce in your own words of any one of the following : [10]

(}V’f asss 1y eghs (D
St ©
SV e 3)

(B) Write any one of the following : [10]
(1) Poetic Art of Ameer Khusrau
(2) Life sketch of Parveen Atesami
(3) Style of of Ghalib

Q.4) (A) Explain any five couplets of the following into English, Urdu
or Marathi or Persian : [10]

bl 5 assT & ousT Fl s A
b 5 aslg aE osl S I
ATk - @l’ FNit S ef )
blS ol o e i S YT
Ubssy Uz 24 Uk T s eolb § (3)

Sz ¢ (lg r’JK {Jlﬁ( Sy 57 JV I
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E Fonblal s arl o fiF @
L UL/ Sy e gzt S 42
S op s K L (5)
l;,,l:‘ ML{JUJ esld F
el YT JGLJ'SQ{; (6)
Sy
e S UK e ()

M’JTJ&}C):E;U,%J)?@J}

(B) Translate any two of the following passage into English, Urdu,
Marathi or Persian : [12]

s i FS IV e S et ey (D)
T £ 4 9 4l ,(Lz I sl LQ/K u‘?’ e bf U
M = 2 S i 4 H(& ! ‘aulfbg i S &l
&Il 4 )y A% i o 2 k2 U
SN ARV DI
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0 GET 5 Sy 428 wuTe 0 S )
s Aot S LT g O wz
SO Fo o 50 a0  Sbs ool utt
.vf’,,éu»ug;ﬁugﬂ u’,yj)i..)/’/
sl T e o S dt}j{L)JJL 29 2k
S 4155 F P el a

o,ofuc;fu;/ UT s gl 2 1L T A2 3)
Ul uT Uss ouf 5 (;l// IS (24 4P
S AT 8E S G S
J))A:»G{Ulﬁ"?du/ﬂ u’t el Uls ,57 ‘f}b/:
1% U6 ¥ sy

(C) Translate the following unseen English passage into Persian, Urdu
or Marathi : [08]
A student without an ideal 1s a lover without gold. A traveller who
does not know his destination 1s like a bird without wings. A
devotee without knowledge is like a house without doors.
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[4369]-120
F. Y. B. Com. Examination - 2013
ADDITIONAL ENGLISH
(New 2008 Pattern)

Text Prescribed : The Joy of Reading Literature

Time : 3 Hours] [Max. Marks : 80

Instructions :

(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) (A) Read the paragraph carefully and find the single words for each
of the phrases given below : (Any Four) [04]

The place was deserted by the time the astrologer picked up
his articles and put them into his bag. The green shaft was also
gone, leaving the place in darkness and silence. The stranger had
gone off into the night, after giving the astrologer a handful of

coins.

@)
(b)
()
(d)
)

[4369]-120

Left empty / left completely

One who foretells

Particular things or objects

A bean of light coming through an opening

Person who is unfamiliar
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(B) Fill in the blanks with suitable prepositions : (Any Four) [04]

(@ The gardener sprinkled water the rosebush.
(b) The floor in the hall was covered a carpet.
(c) There is a big tree front of this room.
(d) If you are not clear about the meaning this
word, consult the dictionary.
() | must go and search her.
(C) Add suffixes to the following words : (Any Four) [04]
(@ Dblock
(b) serve
(c) employ

(d) perform

(e) renew
(D) Change the voice : (Any Four) [04]
(@ | wrote something on the cheque.

(b) He gave me a fifty dollar bill.
(c) The very sight of him rattled me.
(d) This gentleman is opening an account.
() The accountant fetched the manager.
Q.2) Answer any one of the following in detail : [16]
(@ Describe the ‘Parade’ that Banu led.

(b) Comment on the title of the story ‘The Gift of the Magi’.
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Q.3) Answer any one of the following in detail : [16]

(@ How does “‘Success is Counted Sweetest’” make a case for the
defeated human being ?
(b) Comment on the theme of ‘Sonnet 29°.
Q.4) Answer any two of the following in short : [16]
(@ What made the narrator nervous in a bank ?
(b) Describe Gopal’s reaction to the snowfall.
(c) What are Nehru’s views about the citizens of India ?
(d) How were Patricia and Paul able to get a table of Hotel Stefani ?
Q.5) Answer any two of the following in short : [16]
(@ Where does Tagore want God to lead the mind ?
(b) Describe the different types of bangles which the bangle sellers
carry.
(c) Comment on the nature imagery in the poem “The World is Too
much with US”.
(d) Describe a conflict in the mind of the narrator in “Stopping by

Woods on a Snowy Evening”.
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[4369]-120
F. Y. B. Com. Examination - 2013
ADDITIONAL ENGLISH
(New 2008 Pattern)

Text Prescribed : The Joy of Reading Literature

Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) (A) Read the paragraph carefully and find the single words for each
of the phrases given below : (Any Four) [04]

The place was deserted by the time the astrologer picked up
his articles and put them into his bag. The green shaft was also
gone, leaving the place in darkness and silence. The stranger had
gone off into the night, after giving the astrologer a handful of
coins.

(@ Left empty / left completely

(b) One who foretells

(c) Particular things or objects

(d) A bean of light coming through an opening

(e) Person who is unfamiliar
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(B) Fill in the blanks with suitable prepositions : (Any Four)

(@ The gardener sprinkled water

(b) The floor in the hall was covered
(c) There is a big tree front of this room.
(d) If you are not clear about the meaning

word, consult the dictionary.

() | must go and search her.

(C) Add suffixes to the following words : (Any Four)

(@ block
(b) serve
(c) employ

(d) perform
(e) renew
(D) Change the voice : (Any Four)
(@ | wrote something on the cheque.
(b) He gave me a fifty dollar bill.

(c) The very sight of him rattled me.

(d) This gentleman is opening an account.

() The accountant fetched the manager.
Q.2) Answer any one of the following in detail :

(@ Describe the ‘Parade’ that Banu led.

(b) Comment on the title of the story ‘The Gift of the Magi’.

[4369]-120 2

[04]

the rosebush.

a carpet.

this

[04]

[04]
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Q.3) Answer any one of the following in detail : [16]

(@ How does “‘Success is Counted Sweetest’” make a case for the
defeated human being ?
(b) Comment on the theme of ‘Sonnet 29°.
Q.4) Answer any two of the following in short : [16]
(@ What made the narrator nervous in a bank ?
(b) Describe Gopal’s reaction to the snowfall.
(c) What are Nehru’s views about the citizens of India ?
(d) How were Patricia and Paul able to get a table of Hotel Stefani ?
Q.5) Answer any two of the following in short : [16]
(@ Where does Tagore want God to lead the mind ?
(b) Describe the different types of bangles which the bangle sellers
carry.
(c) Comment on the nature imagery in the poem “The World is Too
much with US”.
(d) Describe a conflict in the mind of the narrator in “Stopping by

Woods on a Snowy Evening”.
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[4369]-121
TR qY qUiorey gsterr - 2013
AEEMRE T SUAMSAd AT
(A@F R00¢ TeA)
HARRYES : (3) HTHGIT
(k) @EEIRF w7t
B : 3 a] [gpUr T[0T ¢ 70
AT
(1) T g97 TSIt 3maeqs 3IE.
(2) ISAIBSIT 37F FeATd qol 0T FIfaar.
7.1) TAds! HIUETEN THT [UEmE Yoo reFiqdd e foar - [10]
(1) cieure foaasd wEE enir dre
(2) IANTHIEETT AAST AOHE T
(3) 3 ' IS | (AfAa)
(4) WAl gt & !
9.2) TATClicTdes! HIOTETEl ST JeArdt 3a¥ FAN R0 Ed (oar - [10]

(1) MEERT 3T IR &= g9 "iedYsRidid B F@E.

(2) IHANT ATAATHS HIUTHOT A & ?

(3)  “IMHFAAE AT TN BIOTATE TR JAMAIRFAET A9 TeAaT.
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9.3)

9.4)

(4) ‘AR ATHONT HO7 AYA A TaEH g4 B o7 594
Iard ¢

(5) “MITYTET MeA’ BT T HIOTAT alwuﬁdlq\d gqelT 32 ©

([aNEaN

(6) TIANT TET0T fsltldijdﬁIWI TR HTUTER IOTT TR TS

FAd T 9

(7) QIS AL FAMET I BOATET ATEcAT WET HIOTAr ¢

(8) 3N 3TTEc T =T I 9fEuie Ot HioT Hooll

TGl 9
(9) WHT 3T T YIS ITAHT HIOTATE S Faaaer=r qid Fm.

(10) HITET TSI TS 2T WAl 9= o = H0gTd 3Gt aid ¢

(11) 35T HA™A &l ST HBIOTIT TqSATd ST @

(12) IS *™a &aT SMEARIT A1d foTaT.

(13) 9a9 9aR 9T Tfid IOt HUAIAT SIAT AT IRAd B ?

HTAIAIH! FHIOATE! THT FATD IR AR 4o UEA [oal - [05]

(1) TS Maaa &= S9a® Sear=aT Wetshi=T Taat wiafshar weft
THT Bl ?

(2) fag@ ®Wd =+ A" fawogmar SYeEd™T &1 g% bl ¢
TTAIAIH! FHIUETE! THT FAT I AR 4o UHIA [oar - [10]

(1) T R g Rigromarsar JOy HREToT ST ARTOY ST SR
foer.

(2) ‘Soad AiaqeT=T SR &1 AT JUR TRd HAH &dia
AR IRET Ho =T,
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9.5) TGt HIOTTEr J geArat 3y forar [20]

(1) WEMIEaThg el HeseedT ST =T ATarared 9%

(e a\ o o [aN
TET 3N, WX qHIA! SR FXA A MesAuT T HeavgmaTead
YT AT ATd 3T .

(2) WEMIOTEAIA SRR a1 A0 auiaTs! Tt faameia
AT BAT 3TE. AT ITSAIEd Al W Ee! [Toof qum &,

¢ o
[

(3) AT M [T SUhEAE TS HOTEe! Tl

[aV [aV o o
Elill;li%liﬁﬁiliil SISEESINIEGH 3:”% Hal §opl glddd lciegl.

(4) T AElaaT@a faareatare! Sorerd fafaa g giereror
SUITY T 3MME. TS RIS TR A& FUTR ATEA I

ddm .

9.6) TGl HIVHTEN THT 9o AT forar [10]
(1) TSRl gRg MY FUART TATES IS I 3T 3TMed. Ja

SRIEFESISIELIBIEE "Il‘llr\{cbi"ll Hlded  <pUIIR ‘\TIIE?N Ir:'qu"l’ adir
.

(2) TTCIAUDHT BT THT [T JAIATHAST ST AT TIR
AT

(i) O HEOREA g=S9C

(i) T "wUSt TEUe

9.7) TEA AT U6 Jareiel ARIeEa do- & g9ds SiS® ar ;. [05]

HUTATE QAT BAsiTR AT G SOIesdT=d &id 3T9al.
IUATETHSE TRRUAIT FTET STOTAT I VR MSuaray Heft 3m=ms
et T AHTa: Tgd® SOl MU [9h™ Jae@dds Uh [aRTe
AT HAT AR, THTET ST AT STHTIAT a1 FHIATT I T
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IAF THLAT FAAT IS gaWAT AT, IaT. AT 307,
TEATET 3T, IAGHION, WYV . ORY ST@T AT THE AT, ANTar
TN A I SIS THBSaGId AT Ao qiieed . ITIe

THAT AT AT SIHT &% @Nd 3TVT A ATl Il
[ &d Sal, M99 Hgardl 397 MG @FTal, q@ad I 3TIH
TAESR T9d ST 3MATF 3.

(83 =)
T

Tt SUSTT 3araTd AYSId WINiaT & [05]

Trees are man’s best friends. Many Indians worship trees as God.
The different parts of trees are useful to man in various ways. Trees
give us wood, flowers, fruits, nuts, gums and so many other products.
Trees provide the right environment for human beings, animals and
birds. The deep roots of trees help to bind the soil together. Trees
attract rain and keep the air around us cool and fresh. The leaves of
trees give out valuable oxygen.
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[4369]-122
F. Y. B. Com. Examination - 2013
SANSKRIT
( T )
(New 2008 Pattern)
9 : 3 Amd] [TERUT TUT : 60
Q.1) Translate into English or Marathi any two from Section ‘A’ and any
two from Section ‘B’ from the following passages : [20]
7.1) UEidst er fawnTdiad wurerEt et 9w favmrdia storerat
R gusiia fhar Aol WINiaY &9 [20]

SECTION - A (frmr - 39)

(1) = - 3MfU giATEqred Hodtd: ?

A - TEEMAT A TFaAIrITmRYT s SaHe:
UidPpd SR T |

[ - waq | dWT FemA | 91 T fafgawhi A7F #e:
U |

AW - WEETAEEd (S ARESE: 1)

=TT - gd, AEIARTH | IOITHEEIET st A |

Ia: - TEEEEEE | G g e fAwah)
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*ON

(2) AR FAEEGS: BRART] W AARH  @AIEH | T
JFATHICITATH (AT FARTAHION ATH BT Flqaqtad ¥ | AT
T T HEO: TAAREEI GO e A9 fasfa |y
TT A Mg ARSI AF AT FAE: | 37 § ga

AT fawuoraEAT grare | At iR, Sasas A raa ™ JHE: |

TATa~ HREE T sty TRaE 3 |

(3) VSRS | @ SUSHBCIEHY N 31 ST
INH | Y, ARARY THANIREGH Haw (TAF g a0

BIYFTAT THTH Taqed 3300 | STt SR SamamT =i
THHATT BREQ T AT FGES Ao vt 9
Ao | THaT g9l AT aHISad ISl Hardi
TEGIRAT: 3 9T ATIH FHETE | aRFEHT @ S
CEUHCYAT T | TOATHSEANSS: ¥ g TS A=

THT TF gEISH |
SECTION - B (Rsmr - @)

(1) ¥ orAwt  HAEIrateenar @ ' @ gagEnerenfa |
FUT: AT FAAHSA TAONET 31T AR ||
TRHAFIMGAHA AT TRAAET aRaras |
g T B AeHaEH e REe ||

(2) P TAWE TE Had T g AT |
TSR daHdpa e ||
ATIHDEIE T FAG ATgare= |
AR IHE T IRt |

(3) AT UTVTHEATCAT FOIAT Tl FaTEa
T TETaEr [oEar e ARt |
W HATT gAr adr fRfEdr T A UEISwEE
¥ Twert a9 @iHer Afg A gt afeswr
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Q.2) Explain with reference to the context any one from Section ‘A’ and

any one from Section ‘B’ : [10]
.2) ‘37 [qWmmdier Fiot@t Ut T w0 TIWETdil BuTETEl Ut
TESY TR B [10]

SECTION - A (fawmr - 31)
(1) T T Wd ¥R I8¢ Jad I |
(2) TgIqEuoT yaweTy quraane JrE |
SECTION - B (fwmr - )
(1) o FE=E dont g/ET S| a1 |
(2) =t 89 $Pd 9 T @9 |

Q.3) Write a long answer of any one of the following from Section ‘A’

and any one from Section ‘B’ : [20]
.3) 37 TIUTTdil HIUTETEt UHT 997 9 ‘@ [IWmTdier BoTemal oeht
FATS ey 3T forar [20]

SECTION - A (Rvmr - 3n)
(1)  Which duties should follow by the Indian Citizen ?

BT HAATS TTdd HRAT ANRGAT Dol qiesd 9

(2)  Write an essay on ‘IToT{-TeRITiersT: ",

TR Iy Heer  foTer.

SECTION - B (fwmr - )
(1)  Write a summery of lesson ‘“F&oms=H .

“HUMGTH’ AT 9IS TRier ferar,

(2) Write a critical appreciation of the lesson ‘Irerdt: IHGH’.

‘STEET: TASIEH AT UIeT YR F.
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Q.4) Write short notes on any one from Section ‘A’ and any one from

Section ‘B’ : [10]
9.4) ‘37 TTHETGE HIOTATEE THTaT T ‘@ [TAET I BI0TATat ThraT faaws
Sto faer [10]
SECTION - A (fawmr - 37)
(1)  STeHURET:
(2) 9gT=q

SECTION - B (fqwmr - )

(1) ¥rEsT
(2) wefasr
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[4369]-123
TR qY qUoTST gt - 2013
fe=t
CEIE IR ET))
T : 3 gud| [quriss : 70
TGS (1) FIEHERT . TEIAIE
(2) TIETIRT : FBIAEUE
Ry

(1) @Ht goT =g & |
2) gt % ford 3iF geT B g &

7.1) (31 TefaRaa # @ =t & vl @ S geg # fafkmy . [06]

(1) “amsl qH B T@T E AT FHART S g3 2 17 uEr 7=
T F wET ?

(2) T=at H TR BN AEA P AN A MMYAN b Uar & 40
e o ©

(3) ‘WA H AT TAGA HI THAT IHL T AW T@T 2

(4) M MEY ® I AW T AT dRd g
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(3m)

9.2) (30

(3m)

[4369]-123

frafafaa & @ fel I wodt @ SR dew # faRaw . [06]
(1) “dromarssr 9X ¥ — Hiaar w1 A farEd |
(2) T YT T AH-FIAT B YEIAT BT q0 [HH THR HAT 8 9
(3) ‘@/W HAROM & — Higar & AR H FHA FAT T
RERIIC I S e
(4) ‘@At W FEEAT - Hiaar H TG GEGE  [9EHAr B
e Hied |
frfefaa & @ Rt o sraaeont @ wEed an SiE : [06]
(1) “H% StW J@ J™, JeT, A SaX opit ¢ W g §
q & Pa W | S Ed, @ @ IR ggAar 17
(2) “3reATYF I TSGR B TAG AT a9 T JW; 30T 39
AT H PeH AETT HT A[ATER0T T TG, FAATH AR
I B AT FHT A AT B TW@T B 1Y
(3) “AY WA H A& oM W T IF W AR OR B IWR
S& AT 3 TH Al BT T@ET IA6T TS Gt &l of of
—Wﬁﬂﬁ@éﬁ%aﬁ?ﬁaw—wﬁawﬁm%ﬁ
g g 17
FHferEa # ¥ Tt S ST9an & 99sy arRam S - [06]
(1) “gIH 3B
WA IRAE Al & &
TEAY WA g od &,
T ™ e
HEHEH AL |7
(2) “mmg & wg A9 & |
FAE g T W
ISt HEH B TT W |
AT BT T G TS
AT H WY TR qT =T 1Y

2 Contd.



(3) “FU H TY TH,
Staq-daiy T |
FI~d BT FHOT HT [T HT AT TH,
a2 @ 39, 9, 9T BT A
S-S 9E UH |7
9.3) feotat faRaw -

(37) dTeEd & gaer | [04]
AT

(31) FEAR B AT | [04]

(3M) ‘@E B UT B B - HAAT BT GIY | [04]
AT

(3M) ‘' - Hiaar H A | [04]

(3) Tr=faRaa & o T 98 9971 & ts-us aeg # 2 faRas : [06]
(1) ‘T FF [T FEAT  FEFBR B A A |
(2) MR & I BT ATH T T AT 9
(3) ‘st H TS H@ - FHeWr A [HUH A g AT ©
(4) ‘<6 B IEdT TEEE T AT 9
(5) WS IAEEE B AT FE Y F IR ST w9
(6) T Fruer fFEg a@E A\t § 9
(7) ‘959 &, e F’ — FHAal & BT BT AH fARET |
(8) T AR W HIA MEF & FAMT ?
(9) ‘Rmr - war # G ETEw wE @ TAeem ?
(10) ==t *r TFA® HH MY 91 & w1 89
9.4) 31 T=faRga & ¥ fFft UF 99 &7 Y AR FIHSE [06]
(1) RSt / A& @A, 525, HEMER ¥, SR () o
Teal AEATaT (YTeATIsh) 9% & (67U, Wrad, Td Q18707 T,
A & A AEET 97 faegar [/ faerar €0
(2) TIRMYE, ST T WER, RIEs 9, A1 § SIS,
IO GHNH, T fSeott B part B Pra HEH & 9T
forear 2 |
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o [aVNaN

(3m) Feiaiad faamee SET aaiasd &1 F9AT d9R St

®

9.5) (371

(1) 9NR # T T AEEA dS B o |

(2) @t fae@Es SEdr (A7 qWE) H dEiesd |
faEa # & [Fet 88 a9l & JE O [l
(1) =t & fd 3mg o |

(2) WEE BT I I |

(3) EANT N w91 fRania & |

(4) 9 I BT TH G W g g6t g
(5) T F TR MH W|EAT |

(6) SR HI A JFABL NG TWHT 3§ =T |
(7) 3l FHiAET 9 2 |

(8) Ui HEg & T3 U T |

efaraa # ¥ Tl 9 osst & f&sr v arss fotera
(1) Audit

(2) Capital

(3) Claim

(4) Discount

(5) Financial

(6) Loss

(7) Offer

(8) Rebate

(9) Surcharge

(10) Treasury

(M) F=faRga & 9 feft ts v &1 Foaar-faar FINE

(1) “foar faar 9= 2 1

(2) ‘9@ SeT 3= TR

(3) ‘3@ ST, TEW uF A& I
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[4369]-124
F. Y. B. Com. Examination - 2013
GUJARATI
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
w.q) AAnidl 519 wa 2s [@Qua u Moy auil [1€]
(1) -2 gl 21y
() dd BAd s a9
(38)  audl odl izl
(¥) Rousl s wie
W.R) 519 Ul A uad-dl AlARdR G @il ¢ [12]

5
(4) 24 audld 34 ddi desdwid s 22l
() [33s+ll aldl>lul asd adl @0-wad-dl airdlRsdl ue s3.

U.3) 519 Ul As Ul AlAd G Avil : [12]
1) Ayl sladipiing suauld@sdl

AU Darisad wavil,

. ~

dsln vl @ (519w Axs) [0¢]
(1) ooImard @Ay
(2) ‘S allsll Aoyl all.
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wu) ()

N ~

g5l @vil @ (SIS uaL is)

(1) ‘olin dtsRurui sfa-dl allu

(2) ‘Sl ui slRaaHl

yaluz Asls vl @ (s ua - ws 2R
(1) R wo wE oY @9 o,

() ounsdl gz, & vl Gl3d.
(3) an ol el g ey ?
(%)

¥) el [San wlAddl Fdl €.

YaAlAHL el olold uAlR(l HRldL Yat ey« quil.

YU

QUM ANl 8eitA [l vSald duR S,
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[4369]-125
F. Y. B. Com. Examination - 2013
SINDHI
(Arabic)
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

[20] —«:943 SIS LD Ojbm SCR R e (:3[0 W*‘ Jt_g.m
ol L;otm hes 33/&9%/(0 JEINE o<

f 925 o0
ﬁ‘(x/twb‘f/ép@/w" Sy e Ui 2

g le s

(65 ABISE gne o SBl

9;3 ‘()»9/'-’5(0 {gﬁ’s&}uf e eoslens o {M 5
a (st shae

(So gims Ul ws o we oo

o S5 [ios o Semole 7

fom a7 p odules gias Gghs Eob B ol

o ssBls sxers g L SlsSae grstal I
oy le

?/wsﬂ@buéﬂﬁ&%!{:/)ay; o 1o
fhe Jf L0

-3

- 4
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No.

Total No. of Questions : 4]

[Total No. of Printed Pages : 2

[4369]-125
SINDHI
F. Y. B. Com. Examination - 2013
(Devnagari)
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
gaa-1)  featw wf fefw o gef gEett s saw foret - [20]
(1) IR IS8 AT W Higg 98 W DI HAT ?

(2) faem o N5 Afdr o SR S AN F Hiegr Fror T 9
(3) AW TUONRT T Higel Tl B 9

(4) THN TS T FF Awop e ©

(5) Tar & I O WAWRT St AR WY wHiegt Afgon =t ¢
(6) TFH I HA I AT Biegl g °

(7) ST & HEST AE gI ?

(8) oT@I T T@MT TASH H Hleg [dorAd H AT B 9
(9) 9T Shaamont Reem # dE gEA W w1 wAr 9
(10) TSR € TUTHY ST FIATAAH H Hlegl G foread &t
(11) e smt & TR & ®r ot e & 9

(12) 9Ot YEER U ATIg Hiegl HH BT M 9

(13) Stwiter, Tidrer I ImemaTar Ror @g Hieg THF TRt ¢

[4360]-125

) Contd.



qATA-2)

ATA-3)

qaATA-4)

dfentr &t fem T W gEefy o saw =R R @
50 awsta | fasn [10]

(1) 31 Wit ART T He AT AT M@ & Hleg! ART TEH
T Ot @, ®F 9

(2) <oUE HIET AMASE T HEST EET of HL 9

(3) T TSR AAATH T IFAND AT FHleg! Alh Sfeal Tl

amg ¢ w9
(4) T Feg TR A WHE FT /M ?

gieat wi {6 fv fafvr gEeft s saw awdftear fawn @ [20]
(1) w3 St TGRS,

(2) Wrter ST S S & SXEId St SRR dis uEr ¢

(3) #fE ST i AHAT ST S BREl

(4) UTHIH S AT S MFAST Bt g oA 9

gfeai @i {67 T W fawaitw @ asqw fae . [30]
(1) ad & & HcT®

(2) AH # TuUsg ACHAE

(3) HiEST ASER uRRRr

(4) TOT S ITMHEBAT
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No.
Total No. of Questions : 5] [Total No. of Printed Pages : 5
[4369]-126
F. Y. B. Com. Examination - 2013
FRENCH
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.

(2) Use of dictionary is not allowed.

Q.1) Ecrivez un dialogue de 7-8 répliques : [10]

(@) \Wous étes allé en déplacement a Paris. Vous voulez acheter des
cadeaux pour tous les membres de votre famille. Vous interrogez
un(e) passant(e).

Oou

(b) Vous étes a Angers. Vous voulez prendre le train pour Orléans.
Vous demandez un billet pour Orleans au guichet a la gare.

Q.2) Ecrivez une lettre : [10]

(@) \Wous écrivez une lettre au directeur de la société CAPSAFE pour
demander un emploi comme standardiste. Donnez vos détails.

Oou

(b) Vous allez de la France en Suisse. Vous vous arrétez a la douane.
Le douanier fouille votre auto. Ecrivez le dialogue.

[4369]-126 1 P.T.O.



Q.3) Traduisez en anglais :

Q.4.

(a) La carte Pass a deux fonctions. C’est une carte de paiement. \ous
n’avez besoin ni d’argent liquid ni de chéquier. Vous présentez
tout simplement la carte et en utilisant votre code secret vous
pouvez faire jusqu’a 5000 Euros d’achats par semaine. Elle est
aussi une carte de credit permanent, vous disposez d’un prét de
2000 a 20000 Euros.

(b) M. Gerard Laitue vient d’arriver en Inde de la Suisse. Il va habiter
a Pune pendant un an avec sa femme. Il va a la banque pour
ouvrir un compte joint. Il veut échanger de I’argent et deposer
10000€ sur son compte. L’employé de la banque lui demande
sa carte d’identité. Il montre son passeport.

Compreéhension :

En France, de nombreuses agences de location proposent des voitures
de marques francaises et étrangeres. Les agencies locales offrent des
tariffs plus avantageux que les agences internationals, mais vous devrez
généralement render la voiture la ou vous I’avez louée et non dans
une autre ville.

I1 faut avoir vingt et un ans minimum (vingt-cing ans dans certaines
agences) pour pouvoir louer une voiture.

\Vous devrez presenter un permis de conduire valable et une piéce
d’identite.
On vous demandera une caution, formalité dont vous pourrez régler
le montant par carte de crédit.
(a) Répondez aux questions suivantes :

(i) En France, d’ou peut-on louer des voitures ?

(i) Quels documents sont nécessaires pour louer une voiture ?
(b) Dites vrai ou faux :

(1) L’a&ge minimum pour pouvoir louer une voiture est vingt-
cing ans.

(i) Les agences internationales offrent des tarifs plus avantageux
que les agences locales.

(iii) On peut régler la caution par carte de crédit.
(iv) On doit rendre la voiture dans une autre ville.

[20]

[02]

[04]

[4369]-126 2 Contd.



(d)

Donnez I’infinitif de : [02]
offrent, pourrez

Donnez le contraire de : [02]
plus, louer

Q.5) Grammaire et vocabulaire :

(@)

(b)

(©)

(d)

(€)

[4369]-126

Mettez au pluriel : [04]
(i) La salon d’essayage est en face de I’escalier.
(i) Le studio est spacieux et confortable.

Mettez les verbes entre parentheses au temps ou au mode
indiqués : [03]

(i) Nous (finir-présent) toujours a I’heure.

(i) Le directeur (introduire-futur) de nouvelles méthodes de
travail.

(iii) (Faire-impératif) votre travail maintenant.

Complétez avec des preépositions : [02]
(i) 1l est nécessaire parler au chef de marketing.

(i) 1l va rendre visite usine.

Mettez au négatif : [06]

(i) Je voudrais des chéques de voyage.

(i) C’est un grand restaurant.

(iti) Elle aime la viande.

Trouvez I’objet direct : [05]
(1) \Vous apprenez le chinois ?

(it) s achetent le café.

(iti) Je ne veux pas commander les desserts.

(iv) Moi, je préfere boire ce vin.

(v) Je cherche les vétements de femme.
3 P.T.O.
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(9)

[4369]-126

Dites vrai ou faux : [05]

(i)

(i)
(iii)

(iv)

(V)

Au super marché on achete des pommes de terre a la
section “fromages”.

Un habitant de la Suisse est suisse.

Le directeur technique d’une entreprise dirige les activités
de ventes.

Avec une carte de crédit, on peut retirer de I’argent tous
les jours.

Pour acheter ou vendre une maison, vous allez chez I’agent
de voyages.

Choisissez la bonne réponse : [05]

(i)

(i)

(iii)

Dans les auberges, le fait la cuisine.
(1) propriétaire

(2) serveur

(3) réceptionniste

Le PDG dirige les activités de

(1) finances

(2) vente

(3) IPentreprise

La féte du Travail, c’est le mai.
1) 5

(2 1

@) 2
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(iv) Pour entrer dans un pays étranger, il faut passer par la

(1) douane
(2) la compagnie de carte de crédit

(3) [l'office de tourisme

(v)  Au supermarché vous achetez des a la lustrerie.
(1) livres
(2) lampes
(3) jupes
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[4369]-127

F. Y. B. Com. Examination - 2013
GERMAN
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Q.1) Beantworten Sie ZEHN der folgenden Fragen ! [20]

(1) Wie viele Zimmer hat Ihre Wohnung ? Wie heifen Sie ?
(2) Wie feiern Sie lhren Geburtstag ?

(3) Was Mdchten Sie in den Ferien Machen ?

(4) Was essen and trinken Sie zum Frihstick ?

(5) Nennen Sie Zwei Tipps fir Schlafstérungen !

(6) Was darf man in einer Mietwohnung nicht machen ?

(7) Was machen Sie abends ?

(8) Nennen Sie Zwei GroPstédte in Deutschland ?

(9) Wie heifft lhre Mutter ? Wie alt ist Sie ?

(10) Sie gehen in ein deutsches Restaranat. Was bestellen Sie ?
(11) Was sind Ihre Hobbys ?

(12) Wie Kann man von Pune nach Mumbai fahren ?

(13) Was kaufen Sie fue lhr Zimmer ?

[4369]-127 1 P.T.O.



Q.2) Lesen Sie den folgenden Text und beantworten Sie die Fragen !

Mein Name ist Mehmet Guler. Ich bin jetzt 50, und Nurtin, meine
frau, ist 44 Jahre alt. Ich bin aus der Turkei. Ich habe friher in Sorgun
gelebt. Wir waren finf Kinder. Vier Brider und eine Schwester. Mein
Vater War Bauer. Meine Frau kommt auch aus Sorgun. Wie haben
dort 1972 geheiratet. Wir haben eine Tochter, Melahat, und einen Sohn,
Esat. Melahat ist 24, Esat ist 22. Von 1973 bis 1980 haben wir in
Izmir gewohnt. Seit 1981 leben wir in Deutschland. Ich bin Mechaniker
und habe drei Jahre in Kassel bei VVwgearbeitet. Meine frau war zu
Haure und hat den Haushalt gemacht. Dann war ich ein Jahr arbeitstos
und meine frau hat als Verkauferin gearbeitet. Seit 1985 arbeite ich
in Stuttgart. Jetzt wohnen wir in einer kleinen Wohnung in der
GartenstraBe 12. Ich arbeite bei Bosch. Esat arbeitet auch bei uns in
der firma. Er ist Mechaniker. Melahat und Esat haben gut Deutsch
gelernt. Melahat lebt in Kassel. Sie hat das Abitur gemacht. Dann hat
sie kunst studiert.

(A) Fragen : [08]

(1) Seit wann wohnen Herr Giler und seine familie in
Deutschland ?

(2) Was haben Mehmet und seine frau in Kassel gemacht ?
(3) Wo Wohnen Herr und Frau Giiler in Stuttgart ? Warum ?
(4) Wo lebt seine Tochter ? Was hat Sie Studiert ?
(B) Sind die folgenden Aussagen richtig oder falsch ? [02]
(1) Mehmet hat funf kinder,
(2) Melahat hat aut Gymnasium gelernt.
(3) Herr und Frau Gller haben in der Turkei geheiratet.

(4) Frau Guler hat immer gearbeitet.

[4369]-127 2 Contd.



Q.3) (A)

(B) Ubersetzen Sie ins Deutsche ! [10]
(1) My T. V. ist not working.
(2) | would like to order, now.
(3) One must speak here softly.
(4) Hans goes for a walk in the morning.
(5) At what time do you go to the school ?
Q.4) GRAMMATIK und Wortschatz :
(A) Ergéanzen Sie das Perfekt ! [05]
kaufen, kochen, frihsticken, fernschen, gehen zuriickfahren
Gestern Uma um 9 Uhr . Dann sie um 10
Uhr auf den Markt . Sie Gemise und obst
. Um 11 Uhr sie nach Haus mit dem Bus
. Dann sie fur ihre familie . Nachher
Uma und ihr Mann zwei stunden
(B) Bilden Sie Fragen ! (nur drei) [03]
(1) Herr Hoppe Kommt aus osterreich.
(2) Der film beginnt um 9 Uhr.
(3) Der Kaffee ist sehr Kkalt.
(4) Mein bester freund heift Rohan.
[4369]-127 3 P.T.O.

Ubersetzen Sie den folgenden Text ins Englische oder
Marathi !

Anja wohat mit ihrer Mutter Ursula, ihrem Vater Herrmann, ihrer
alteren Schwester Martina und dem Hund Cora in einem Haus
mit groPfen Garten. Anja geht aufs Gymnasium, lhre
Lieblingsfaeher sind Biologie, Mathematik und nattrlich Sport.
Auch in ihrer Freizeit ist sie sportlich aktiv. Sie geht gern
schwimmen, Sie féhrt gern fahrrad und macht Karate. Mit ihren
Eltern versteht sie. “eigentlich ganz gut”. Anja findet es toll,
dass Ursula und Herrmann so tolerant sind. Sie darf in Discos,
freunde besuchen und im n&chsten Jahr auch allein in den Urlaub
fahren. Der Vater ihrer freundin ist viel strenger.

[10]



(C) Erganzen Sie die Modalverben ! (nur sechs) [03]

(1) Kinder __ diesen Horror film nicht sehen.

(2) Die Fahrer in Indien __ links fahren.

(3) Seit 4 Jahren lernt Martin Spanisch. Jetzt ~ er gut
Spanisch.

(4) Ich habe fieber. Ich _ im Bett bleiben.

(5) “lhr __ jeden Tag die Hausaufgaben machen”, sagt die
Lehrerin.

(6) Im Kino _ man nicht rauchen.

(7) Ich __ morgen nach Delhi fahren.

(D) Ergéanzen Sie die Endungen ! (nur sechs) [06]

(1) Familie Robertson hat ein schon _ Haus in dieser
ruhig  Stadt.

(2) Jed __ Monat besucht Martha ihre krank _ Eltern
in Bonn.

(3) In seiner Klein _ Werkstatt verkauft Hans alt
Autos.

(4) Imnéachst _ Monat mochte Herr Mdaller einneu
Auto kaufen.

(5) Diese schon _ Halskette gefallt meiner junger
Schwester nicht.

(6) Osterreich ist ein klein __ Land mit vielen schon
Seen.

(7) Robert will seinem klein __ Sohn ein billig
computer kaufen.

(E) Erzéhlen Sie die Personalpronomen ! (nur drei) [03]

(1) “Wie findest _ mein neues Motorrad ?”
“Super. Es hat __ sehr gut gefallen.”

(2) “Das Institut hat _ eine E-mail geschickt. Ich will

gleich antworten,” denkt Hans.

(3) “Die neue Kamera funktioniert nicht gut. Ich muss
zurlickschicken”, sagt mein Vater.

(4) Monikas Bruder hat Geburtstag. mochte
ein Geschenk Kaufen.
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(F)

(G)

(H)

(1

[4369]-127

Erganzen Sie die richtigen Verbformen ! (nur vier) [02]

sein, haben, dauern, einladen, schlafen

(1) Das Seminar von 9 Uhr bis 16 Uhr.

(2) Unsere Klasse macht ein picknik. Alle Schiler
aufgeregt.

(3) Hans gibt am Sonntag eine Party. Er _ alle seine
Freunde

(4) Wie viele Unterrichts stunden __ ihr in der Woche ?

(5) Priya und ihre Schwester _ bis 10 Uhr am Sonntag.

Erganzen Sie die Possessiv pronomen ! : (nur vier) [02]

(1) Wir kaufen einen neuen fernseh __ apparat, denn
alter fernsehapparat funktioniert nicht.

(2) Herr und Frau Braun Wohnen in Berlin. _ Kinder
wohnen aber in Koln.

(3) “Wie oft besuchst du _ GroPeltern ?”
“Einmal in der Woche.”

(4) Hans und __ Freundin gehen oft ins Kino.

(5) “Wie heift Deutschlehrerin, Peter und Paul ?”

Erganzen Sie die Prapositionen ! (nur vier) [02]

(1) Die Zeitungen liegen dem Tisch.

(2) Der film dauert von 2 Uhr 5 Uhr.

(3) Das fenster ist _ dem fernseher.

(4) ___ vier Jahren lernt er Italienisch.

(5) __ seinen Hut geht mein GroPuater nicht aus.

Erganzen Sie die richtigen Worter ! (nur vier) [02]

(1) Berlin ist die __ von Deutschland.

(2) Medikamente bekommt man in einer

(3) Dr. Meier hat die von 16 Uhr bis 18 Uhr. Viele
Patienten besuchen ihn.

(4) Der __ klingeit. Hans stent auf.

(5) Man kauft Blcher in einer

5 P.T.O.



() Welches Wort passt nicht ? (nur vier) [02]
(1) Zeh - Fup - Hand - Bein
(2) heif — schwer — kalt — warm
(3) Geschirrspuler — Waschmaschine — Kuihlschrank — Computer
(4) Tomaten — Kartuffeln — Marmelade — Zwiebeln

(5) Schlafen — Magen — haben — mogen — sagen
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[4369]-128
F. Y. B. Com. Exmination - 2013
URDU

(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
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[05]

[02]

[03]

P.T.O.

:ﬂ/uf;ulufﬂb‘lé&éffd)u:d)' (a) P’/,‘Ulr‘

Action
Analytic Study
Agreement
Capitalization
Demand
Forecast
Equation

Financing

?+gﬂwf;&LﬁLuw9J£ (b)
:’i&fdv@'uﬁuﬁé"ﬂuwvuféf (c)

b | L1z
(S
2R

te Sz £ F
boil Uk

0 s

(1)
@)
€)
(4)
©)
(6)
()
(8)

(D
)
€)
(4)
)
(6)
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[12] Ao Lor LS @
K )

s

e 2131 ()
Ve bl e @)
[08] e 2 K U AL s (o)

“A man with a small salary is very likely to get
into difficulties unless he learn to 'budget' for his
monthly spending. A fixed amount should be seta
side under each heading-rent, food, clothing,
insurance, school fees and so on. The ideal
budget would also include a fixed sum, no matter
how small to be set a part each month as 'saving'.
Indeed this better be paid into the Post Office or
the Bank and not kept at home.”
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[4369]-129
F. Y. B. Com. Examination - 2013
FOUNDATION COURSE
(Restructuring)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is ‘Economic Inequality’ ? What are the causes of Economic
Inequality in India ? Suggest measures to reduce Economic Inequality. [16]

Q.2) What are the causes of Poverty in India ? Suggest measures to

Eradicate Poverty. [16]
OR
Q.2) What are the causes of Low Productivity of Indian Agriculture ?
Suggest measures to increase Agricultural Productivity. [16]

Q.3) (A) What is the importance of Religion in Indian Society ? [08]

(B) Write note on ‘Self Employment’. [08]

OR
Q.3) (A) What are the causes of Sickness of Indian Industries ? [08]
(B) What are the various steps in Scientific Method ? [08]

Q.4) What is Caste System ? What are the merits and demerits of Caste
System ? [16]

[4369]-129 1 P.T.O.



Q.5) Write notes on the following : (Any Two)

(@)
(b)
(©)
(d)

Characteristics of Indian Society
Planning of Education
Concept of Government

Stress Management

[4369]-129/2
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& A

UTITHA AHITHRH
(TR )

% : 3 dW] [CFT T[T : 80
z;raw by

(1) &d F97 FISIO SMa9qH T8,
(2) FAIYEIT 3F @-@T FeArd YU FAfaara.
(3) TIWIGISt 7SIt 99A9fAHdT T,

7.1) 3nfie fquHar Bt $™ ¢ URATA 3N fausEadt SRt Hiowdr ©
AIF fqoAdT FHH FROAEET U™ g, [16]

¥.2) WRATA SIRGETEl $ROT HOWE 7 iGd Hanonaet 9™ g=dr. [16]

B
q.2) WRAN A=AT FHT IATEHAAT BROT BT 2 AT IdTahdr
TEfIUATAES U gl [16]
7.3) (37) VRAE WA &R #gd & 3 9 [08]
(F) “TWIAISET IEX - {oTE [08]
TSan
7.3) (1) WA ST 3TSTRIOTT ROt Homr ? [08]
() AP UmdrEeRi| fatae @@ s 9 [08]
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9.4) A FORT BUS HE Y A FIT T[OT-IW HO 9 [16]
7.5) feur f@=r . (FivEEt g9) [16]
(37) WA FATET AR
(@) Trgrom frsE

(F) ‘B IT TGN Fhed]

() QAT HARATIA
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[4369]-130
F. Y. B. Com. Examination - 2013
COMPUTER APPLICATION
(Vocational Course - 1)
(New 2008 Pattern)

Time : 2 Hours] [Max. Marks : 40
Q.1) Answer the following : (Any Three) [15]

(a) Explain Elements of Multimedia.
(b) Explain any five features of MS EXCEL.
(c) Explain the uses of Computer in Modern World.
(d) Explain Generation of Computer.
Q.2) Solve the following : [10]
(@) Convert from Binary to Decimal :
(i)  (11011100),
(i)  (10011101),
(b) Convert from Decimal to Hexadecimal :
(i) (430),
(i) (211),
(c) Binary Addition :
10011 + 1010
(d) Binary Subtraction :
11001 - 10011
(e) Binary Multiplication :
1101 x 1110
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Q.3) Write short notes : (Any Five) [15]
(@) Input Devices
(b) Functions Excel
(c) Mail Merge
(d) Protocol (Types of Protocol)
() Memory
()  Search Engine
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F. Y. B. Com. Examination - 2013
TAX PROCEDURES AND PRACTICES
PAPER - |
INDIAN TAX SYSTEM
(Vocational Course-I)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Five) [10]
(a) State the meaning of ‘Tax’.
(b) State various types of Taxes.
(c) Who is liable to pay the taxes ?
(d) How should be the Tax System ?

(e) What do you know above Article 246 and Seventh Schedule to
the Constitution of India ?

()  What do you know about CBDT and CBEC ?
(99 To whom Hindu Law doses not apply ?

Q.2) Answer in 50 words each : (Any Two) [08]
(a) State various characteristics of Taxation.

(b)  Which Canon of Taxation are advocated by Pro. Adam Smith ?
Discuss.

(c) What do you know about Codified Hindu Law and Uncodified Hindu
Law ? Which acts are covered under Hindu Law ?

(d) Write note on ‘Relations of Partners to one another’.
[4369]-132 1 P.T.O.



Q.3) Answer in 150 words each : (Any Two) [10]
(@) Give the difference between Direct and Indirect Taxes.
(b) State the Administrative Set Up of Indian Tax System.

(c) Write note on ‘Kinds of Heirs’ under Section 8 of Hindu
Succession Act, 1956.

(d)  State the procedure of “Service of Summons’ under C.P.C., 1908.

Q.4) Write long answer in about 500 words : (Any One) [12]
(a) Explain various Taxes of State Government in detail.
(b) State various Schools of Hindu Law with reference to :
(1) Joint Family
(i) Coparcenery and

(iti) Coparcenery Property
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F. Y. B. Com. Examination - 2013
COMPUTER APPLICATIONS
(Theory)
(Vocational Course-II)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) Draw a neat-labelled diagram wherever necessary.
(2) Figures to the right indicate full marks.

Q.1) Explain following functions with syntax and example : (Any Five) [05]

(@ main()
(b)  getc()
(c) putc()
(d) sart()
(e) strcat()
() abs()

(g) clrscr()
Q.2) What will be the output of the following modules : (Any Four) [08]

(@ main()
{
inti = 1;
while(i < = 10)
{
printf(*\n %d”, i);
i++
by
by
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(b)

(©)

(d)

(€)

[4369]-133

main()
{
int x = 10;
if x>= =2
printf(*%d//n’, X)
}
main()
{

int x =3,y =4,z=4
printf(“ans = %d”, (z > = y ? 100:200));
}
main()
{
int i;
for(i = -1; 1 < = 10; i++)
{
if (i <5)
continue;
else
break;
printf(“gets printed only once!!!”);
}
}
main()
{
int a = 500, b, c;
if(a >= 400)
b = 300;
c = 200;
printf("\n %d %d”, b, c);

}

[Contd.



()

main()
{
int x = 1;
while(x == 1)
X =X -1;
printf("\n %d”, Xx);

¥
Q.3) Write short notes : (Any Five) [15]
(@ Evolution of Programming Languages
(b) Object Oriented Programming
(c) Relational Operators
(d) If condition
(e) Loops in c
()  Flowcharts
Q.4) Answer the following : (Any Three) [12]
(a) Write a program to calculate the sum of first 5 even numbers.
(b) Explain 2 numeric functions with syntax and example.
(c) Write a program to covert temperature from Celsius to
Fahrenheit.
(d) What is Array ? What is the need for array ?
() What are different data types available in C Language ?
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F. Y. B. Com. Examination - 2013

TAX PROCEDURES AND PRACTICES
PAPER - 11
STATE SALES TAX AND CENTRAL SALES TAX
(Vocational Course - 11)

(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Five) [10]
(1) What is Value Added Tax ? Is it a new tax ?

(2) The Entry No. 54 of List Il of Seventh Schedule of Indian
Constitution provides for ?

(3) What do the ‘Goods’ mean ?

(4) What is the Point of Levy of Tax under M. VAT ?
(5) What does ‘Sale’ mean ?

(6) What is meant by ‘Sales Outside the State’ ?

(7) What is meant by ‘Business’ under C.S.T. Act ?
(8) What are the types of ‘Registration’ under C.S.T. ?
(9) The Sec. 14 of C.S.T. Act, 1956 provides for ?
(10) Enumerate object for enactment of C.S.T. Act.
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Q.2) Answer the following in 50 words each : (Any Two) [08]

(a)

(b)

What is meant by Correct, Complete and Self Consistent Return
under M. VAT Act ?

Who has to Sign Application of Registration under M. VAT Act
and C.S.T. Act ?

(c) Who is called ‘Dealer’ under C.S.T. Act ?
(d) What is meant by ‘Documents of title of Goods’ ?

Q.3) Answer the following in 150 words each : (Any Two) [10]
(@) What is ‘Incidence of Tax’ and ‘Levy of Tax’ under M. VAT

(b)
(©)

Act, 2002 ?
Which sales not liable for tax under C.S.T. Act, 1956 ?

What are the rates of taxes on sales in the course of Inter-state
Trade or Commerce ?

(d) Explain and discuss provisions for ‘Compulsory Registration’
and “‘Voluntary Registration’ under C.S.T. Act.
Q.4) Write long answer : (Any One) [12]
(@) What is ‘Tribunal’ ? How is it constituted ? What are the power

(b)

and duties ?

What are the various ‘Forms’ and ‘Declarations’ under C.S.T. ?
Enumerate their objects and use.
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Seat
No.

F.Y. B.Com. Examination, 2013
MATHEMATICS AND STATISTICS
(New 2008 Pattern)

Time : 3 Hours Max. Marks : 80
Instructions : i) All questions arecompulsory.

i) Figures to the right indicate full marks.

iii) Use of logarithmic and calculator isallowed.

Iv) Graph paper will be supplied on demand.

v) Both the Sections should be written in same answer book.

SECTION -1
1. Attemptany four of the following : (2%4=8)
a) Explain bonus share.
b) Find simple interest on Rs. 2,500 for 3 years at 5% p.a.
c) Find the value of F(4), where f(x) = x2 + 7x + 4.
d) Explain the term Cartesian product of two sets.
3 2 _
e) IfA= 5 4 then find 5A.
f) Shade the region defined by an inequality 3x + 4y > 12.
2. Attemptany three of the following : (5%3=15)
1 O 41
a) Find the determinant of the matrix A = {—2 2 5j.
3 -1 ZJ

b) Which investment is better, 8% at Rs. 80 or 15% at Rs. 120 ? Justify. (Face
value = Rs. 100)

P.T.O.
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d
¢) Ify = xZlogx then find %

d) Whatis EMI (Equated Monthly Installments) of a loan of Rs. 25,000 repaid in
4 years. If the rate of interest is 5% p.a. on the outstanding amount at the
beginning of each year.

[(1.05)*=1.2155]

e) A manufacturer produces bicycles and tricycles each of which must be
processed through two machines A and B. Machine A has maximum of 120
Hours available and machine B has of 180 hours available. Manufacturing of
tricycle requires 6 Hours on Machine A and 3 Hours on Machine B, while a
bicycle requires 4 Hours on Machine A and 10 Hours on Machine B. If profits
are Rs. 45 for a tricyle and Rs. 65 for a bicycle. Formulate LPP to have a
maximum profit.

3. Attemptany three of the following : (5%3=15)

a) What is the difference between compound Interest and simple interest at
10% p.a. on Rs. 1,000 for two years ? (compounded yearly)

b) Using matrix inverse method, solve the following system of linear equations :
2x—-3y =3
4 —y =11
c) Ify = 6x3 + 3x2 + 8x + 10 then flnd y
d) Solve the following Linear Programmlng Problem (L.P.P.) by graphical method.
Maximise Z = 10x + 15y
Subjectto
12x + 5y <60
5x + 10y <20
X,y >0.
e) Discuss the continuity of the function :
f(x)=x*-1, 0<x<2
=x+1, 2<x<4

atx = 2.
SECTION -1l

4. Attemptany two of the following : (2x2=4)

a) Explain the term :
1) Variable
i) Attribute.



N RCA O A 3 [4369] — 104

b) Calculate the median for the following series of observations :
52, 45, 60, 53, 48, 65, 42, 45, 60

c) State any two properties of correlation coefficient.

d) Calculate range and coefficient of range for the following data :
125, 140, 110, 105, 130, 95, 115, 125, 80
5. Attemptany three of the following :
a) Describe advantages of sampling method over census method.
b) Explain any two problems in the construction of Index Number.

c) Following is the frequency distribution of number of students according to
marks scored in a certain examination :

(5%3=15)

Marks

0-19

20 - 39

40 - 59

60 - 79

80 - 99

No. of students

8

26

24

12

1) State the type of classification

if) Obtain the class boundaries of the thrid class
lii) Class width of the fourth class

iv) Class mark of second class

v) How many students getting the marks less than 79 ?

d) Calculate coefficient of variation (C.V.) for the following data :

Class 0-10|10-20|20-30 30-40 40-50 50-60

21 6 4

Frequency 5 9 15

e) Explain Simple Random Sampling With Replacement (SRSWR) and Simple
Random Sampling Without Replacement (SRSWOR).

6. Attemptany three of the following : (5%3=15)
a) What are the requirements of good measure of central tendency ?

b) Explain absolute measure of dispersion and relative measure of dispersion.

c) The means of two samples of sizes 50 and 100 are 40 and 25 respectively

and standard deviations are 10 and 8 respectively. Obtain the combined
standard deviation.
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d) The following data relates to ranks given by two judges in a contest.

Sr. No. of Candidates 1 2134|567 |8]|9]10
Rank by Judge A 10 5|1 6|12 |3|4 | 7]|]9]38
Rank by Judge B 5/ 6|92 8|7 |3 |4]|10|1

Calculate rank correlation coefficient from the above data and comment on it.

e) Calculate:
i) Laspeyr’s Price Index Number

i) Paasches Price Index Number

iii) Fisher’s Price Index Number
For the following data :

_ 1995 2005
Commodity : : : :
Price Quantity Price Quantity
A 5 10 8 4
2 12 16 2
C 1 4 2 3

7. Attemptany one of the following :

(8x1=8)

a) Following are the values of import and export of finished goods in suitable

units.
Export 10|11 |14 1420|222 16|12 |18 13
Import 1214|1516 |21 |16 21 |15| 16 14

Calculate Karl Pearsons correlation coefficient between Export and Import
values.

b) i) Calculate Median for the following distribution :
Class 5-15| 15-25 |25-35|35-45| 4555
Frequency 5 15 20 15 5

Draw the histogram for the following frequency distribution :

Sales (in thousand Rs.)

0-20

20-40

40 - 60

60 - 80

80 -100

No. of companies

5

18

20

12

5

And hence locate the mode from it.
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faramr - |
1. Wicflaeh! vl =R |rSdT (2x4=8)
a) SE YT TS A
b) T.E1.2.3. 5 29 <0 &. 2,500 3T 3 Ieffel TS ATl el
c) S f(X) = X2 + 7x + 4 T F(4) *lal.
d) I TS HIEE MR T Hhl,

3 2
e)aIA:[S 4]?115Am.

f) ETefier TafHeumER g Bom & graan,

3Xx+4y =212.

2. GTATAdsh! HIvaE! o Tiear : (5x3=15)
a) JeId ARUIETE] ARIUh hrel.

1 0 4
A=|-2 2 5
3 -1 2

b) VT AU BRIGIIR o el
8% %. 80 fohaT 15% %. 120 (&3 fohrd = 100 %)

d
C)Elty:xz.logxm%m.

d) & 25,000 IR 9 @S] Feliq Bael, ST TS HATHRUT Tk TEH=
RTeTehiar sheft ST 318 9 T 5% T aX Hifdyeh el fohelt TSt o hral.

[(1.05)*= 1.2155]

e) JETSieh gaTeh! I To=meh! TRhcd IR OIS S JATeR T F off hiH LT,
3 T ST SITEd 120 A1 9 I3 st 180 19 3UcTs ATed. Teh foearehl TrIshal
TR FHOATHIS 6 TE I T I HMH FHUS AN AT 3 T I & aL hH ha
AN TEF GaTeh! ARIehel AR hUITETS! 4 A I3 T I, 10 19 I ot Sl hH
HA AT, THT AR TRIehel Il 45 %, BRIGT BIdl 9 Tehl gaTehl ARIehal o
65 %. BRIGT Bid T8 at T 9. d1. G .
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3. GIATAdshl shvlad! i Giear : (5x3=15)

a) TS TS 9 AHdG TS AreATH el Bk hial, S1eh €. 918,31, 10% &0 1,000 &l
IF IS, (SHTST AT ATk Tga ™)

b) TRUfied Ugdiy @rell feoiedt aftreror diean

2x—-3y=3
4 —y =11
dy
c) Sy =6x3+ 3x2+8x+1OFII& hIal.

d) TTelid JEad T (L.P.P.) SATCET=a1 9erRaH dreal.
STt STd Z = 10x + 15y
S8l 12x + 5y < 60
5x + 10y < 20

X,y>0
e) Wl focican waA ! ardey yedrest

f(x)=x?>-1, 0<x<2
=X+1 2<x<4

S I X = 2.

4. TTATAUshl HIvdE! S diea : (2x2=4)
a) TIsZ 17 :
i) T&THE I
ii) TUTTcHeh =
b) @reft foetean arefiondt He e,
52, 45, 60, 53, 48, 65, 42, 45, 60

c) HEHse TRV hIvTael G TureH fotar,
d) @reft fooiean wifediaTa! STaTeht 9 ST Heluh el
125, 140, 110, 105, 130, 95, 115, 125, 80
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5. WTeiicdeh! ShIvIde! o dieaT (5%x3=15)

a) AT TSt THY UM GATIE el BRIGYR T8 O T 0,

b) THESITeR TR THIAHT JUMAT HIVTATRT S ASavii= Tfoedt ==l .

c) @redt fectean favmfia ararar arefiees ger= 3w o
T[T 0-19 [20-39|40-59 |60-79 |80 - 99
Toremeft v 8 26 24 12 05
i) arfiercom=ft gga @mm
i) for=n amt=an adia artwater fon
iii) I AT AL e

iv) E=IT ST FMEE el
V) 79 UeT et 07 festerelt formfyf we ferdt ¢

d) TTciie gReiiEret foaem = J=iumes e,

S0 0-10 | 10-20 | 20 -30 | 30 —40 | 40 — 50 | 50 — 60

IRATEAT 5 9 15 21 6 4
e) JH: U (SRSWR) d UH: TUTERNETET (SRSWOR) 318cielt @meft amgfeae
AT gl TS AL
6. WIciicTdeh! vl o1 diear (5x3=15)
a) ShEI T ATTE STHUITETS! IV TUIeH 39T,
b) TI &4 : ITeHelE 3 Nerdia s foreeH.

c) 50 T 100 HTHR TN I THATA TAERT STTFH 40 AT 25 TR, AT
T SHIOTA forerer STt 10 3TIfUT 8 o117, Thid HaTe SHIfvM fae el

d) ge factcoan miediand! SR Gease GeTuieh aH TREehMHT foeied TTedTehae
e,

faemeff a1.%. 1 2|34 5|67 8910

etk ‘st e uTedie (10 5|6 |1 2 |3|4|7]9]s8

gdiereh ‘9 e YT |5 6 |9 (2|8 (7|3 4[10(1
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e) Tl fedtean mifEdias
i) AU
DRLEEL]
iii) fheren fohma fdmes wrer
1995 2005
[l P gy S p—s
H 5 10 8 4
o 2 12 16 2
h 1 4 2 3

7. WIATAsh! IV Teh TS :

(8x1=8)

a) @eht faeiedn T1ae a Saeh foRudiae e st deaay Heiurh FIal.
ek 10 | 11 | 14 14 |20 | 22 16 | 12 | 18 | 13
AMEk| 12 | 14 | 15 16 | 21| 16 21| 15 | 16 | 14

b) i) Wreht foctean arvfieres Ae el

=] 5_15|15- 25| 2535 | 35 — 45 | 45 - 55
IRARAT | 5 15 20 15 5
i) @relt fociean anefiee TaueiE el
forsht (e9meA) | 0-20|20-40 40-60 |[60-80 | 80 - 100
HUA T & 5 18 20 12 5

TATCTETEaEA Sgsh SEdl.

B/1/13/46,835
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